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The 57730 writes 112° 92, and not WIR® TWNK 1PN 92

OVERVIEW

The X3 concluded that the 05 of 1P 3 is necessary (even though we
already know fno2 "17°p from 702 X) to teach us the rule that the man must
make the w17p, as it is written P> *> (when he acquires), but the woman
cannot be active in the P 7p. This explanation poses a problem which
mooin resolves.

mooIn asks:
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It is astounding! Since the main purpose of the 11> 5> »109 is to come and
teach us that the woman should not be @w7p® the man', if so -
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Why is it necessary to derive a mw 77°1 of 7mp andp from PIBY A7V (to

teach us that a woman cannot be ¥7» a man) -
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We know this without the w"13, since it is written 1?3 32 this means that he
(the man) will take, but not that a woman will take a man.

mBDIN answers:
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And one can say; that if not for the 2'1» we would have established the
102 of 11P° %2 in a case of MR SWITSP, and we would derive that by %2 w1 7°p the
woman cannot say ¥ 7X°22 77 WP °IX "1, but rather the man is required to say nX >
T IR°22 00 NWTIPN -
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" We know that a woman is 7032 N33 from the 7109 of (NN NIXR? 7D W LA AT NTRY) A0 P°X; the purpose of
> *3 is only to teach us that the man performs the act of 1¥17°p and not the woman.

% The X3 on X,2 77 (and in the Xn>72 here) taught that we derive 703 *w17°p through the 7P amp W'
However now that we already know 702 *w17p from 502 X why is the 7P AP w"T2 necessary.

* The P19 of Ap> * (in X, 72 [xxn] ©»27) reads " 79v21 AWK WK 1> 23 (from where the X3 shortly derives
X2 "w17°p); indicating that we are discussing 7X°2 *w17°p (only).

* It would seem that the words X177 101 are not precise. For even without 11 2 (and the w"13) we would know
that he must give the Pw1TP to her father, as maoin stated previously &3°7 7"72. The w"m (and np> 3)
teaches us that it must be X177 & and not X7 771K (even by 703 "WTR).

> Others explain this that by 782 *w17p (or 70w) where the man does not give the woman anything of value,
then there is the requirement that (at least) he should make the proclamation of w17°p; however by w17p
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However by no> 2752 we do not require that he give the money and he

say % nwmpn nR 17 and it does not matter if she says 77 NWTPH *IR 7 -
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Therefore the w'tx of 7P 7P is necessary to teach us that > % is

discussing 5o3 *¥17°P (for by the 7m°p of 11MDY 77w it states "N 7P ATW 503 °NN) -
1N 9N NID I3 1233 997 1999N)

And nonetheless even by 702 *U17p there is a requirement that he gives
the money and he says > nwnpn nx .

SUMMARY
The w"t of AP An°p teaches that even by 703 *w17°p there is the requirement
of X177 772X X177 101 (and not only by 7X°2 W17°P).

THINKING IT OVER

Moo explains that the w'"1 of AP AP teaches (not that an AWXR is NWIPNA
7022, for that is derived from 70> X, but rather) that (even) by 703 “W17°p
there is the requirement of X177 91X X177 101. The Xn>72 previously asked why
is the 7% of np> °> (and 7°P 7°P) necessary, it can be derived from a 1"p.
However, the 1" can only teach us that an 7wX is 1022 nW7PNA, but it cannot
teach us that it must be X177 792X X177 301, How can the Xn»92 ask X7 17 Xom
(when the 1" will not teach us what the w'"72 will)21°

702 where the man is giving her something of value (so he is already making the 717°p), it would not matter
if the woman made the proclamation of Pw17°p.
6 See w"R7 MdOIN and 121 TR KW,
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